
k
m

 
0
+

0
4
2
.
5
5

k
m

 
0
+

0
5
8
.
3
2

k
m

 
0
+

0
9
7
.
8
2

k
m

 
0
+

5
0
.
4
3

k
m

 
0
+

1
0
1
.
9
8

2
0
1
.
9
6

1
0
6
.
2
3

2
0
1
.
8
3

208.95

208.99

207.88

190.00

0+000 0+100

2
0
9
.
2
0

2
0
9
.
1
9

2
0
9
.
1
0

2
0
9
.
0
8

2
0
9
.
0
0

2
0
8
.
9
9

2
0
7
.
8
8

2
0
7
.
6
5

2
0
4
.
9
4

2
0
4
.
8
6

2
0
3
.
3
3

2
0
2
.
5
3

2
0
2
.
2
6

2
0
1
.
8
3

2
0
9
.
1
9

2
0
9
.
5
9

2
1
1
.
2
9

2
1
1
.
2
0

2
1
0
.
3
9

2
1
0
.
1
3

2
0
8
.
5
3

2
0
8
.
3
6

2
0
6
.
0
4

2
0
6
.
0
0

2
0
4
.
9
8

2
0
4
.
3
7

2
0
4
.
1
5

2
0
1
.
8
3

0
0
.
0
0

0
2
.
5
8

2
0
.
0
0

2
4
.
6
8

4
0
.
0
0

4
2
.
5
5

5
8
.
3
2

6
0
.
0
0

8
0
.
0
0

8
0
.
5
9

9
1
.
8
7

9
7
.
8
2

0
0
.
0
0

0
6
.
2
3

přímá dl. 2.58m

R 12.50m

dl.22.10m

přímá dl. 55.91m

R 12.50m

dl.11.28m

přímá dl. 14.36m

k
m

 
0
+

0
.
0
0

-0
.5

0
%

d
l.5

0
.4

3
 m

-

1

3

.

5

5

%

d

l

.

5

1

.

5

5

 

m

-

3

.

1

6

%

d

l

.

4

.

2

5

 

m

t=7.89 m

y=-0.26 m

R=120 m

t=4.16 m

y=0.11 m

R=80 m

P1

2
0
.
0
0

P3

2
0
.
0
0

P4

2
0
.
0
0

P5

2
0
.
0
0

P2

2
0
.
0
0

 PODÉLNÝ PROFIL POLNÍ CESTY VC48

M 1:1000/1:100

(km 0,000-0,106)

209.20

2
0
8
.
9
5

202.53

202.26

201.83

2
0
1
.
9
6

2
0
4
.
1
5

201.96

S
t
á
v
a
j
í
c
í
 
s
d
ě
l
o
v
a
c
í
 
k
a
b
e
l


